SAMPLE QUESTION Class : IX

I PHYSICS + CHEMISTRY + MATHS + BIOLOGY
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PHYSICS

Force F actson abody such that force F makesan angle g with the horizontal direction andthebodyis
al so displaced through adistance Sinthe horizontal direction, thenthework done by forceis:

A) FS B) FScost C) FSsin® D) zero

Work done by the force of gravity, when a body is lifted to height “h’ above the ground is :

A) zero B) positive C) negative D) noneof these
Thework donein holding 15K g suitcasewhilewaiting for abusfor 15 minutesis:

A)225] B) 13500J C) 1500 J D) zero

If abody ismoving onacircular path then work done by the centripetal forcewill be:

A) zero B) positive C) negative D) none of the above
Work doneby conservativeforcein movingacompleteroundis:

A)W, B)W, C) O D) Noneof these

If 784 Jof work wasdonefor lifting 20kg mass, then cal culate the height through which it waslifted (take
0=9.8ms?)

A)2m B) 4m C)5m D) 6m

Find out the equation of relationship between forceand energy :
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If astone of mass ‘m’ falls a vertical distance ‘d’ the decrease in gravitational potential energy is
Mg?
2

The potentia energy of afredly falling object decreases continuously. What happensto theloss of poten-
tid energy?

A) Itiscontinuously converted into sound energy

B) Itiscontinuously converted into kinetic energy

C) Itiscontinuously destroyed

D) Noneof these

Thevaueof gonmoonis 1/6th of thevaueof g on the earth. A man can jump 1.5m high on the earth.
Onmoon hecanjump up to aheight of :

A)9m B)7.5m C)6m D)45m
Thekinetic energy of anobjectisk. If itsvelocity isdoubled thenitskinetic energy will be:

M M
A) mgd B) - ) D) =

A)k B) 2k q% D) 4k

Two bodies of mass 1kg and 4kg possess equal momentum. Theratio of their K.E
A)4:1 B)1:4 c2:1 D)1:2
Two bodies of massesm, and m, haveequa momenta. Their kineticenergiesareintheratio of .

A) Jm, :\/m, B)m, :m, C)m,:m, D) m?: m?
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What horse power engineisrequiredtolift 18.24 quintasof coa per minute from amine 50m deep?
(Takeg=10ms?)

A)20hp B) 20.6 hp C) 20.5hp D) 20.4 hp

The heart does 2.5J of work in each heart beat. How many times per minutedoesit best, if itspower is
4 watt.

A) 96times B) 60times C) 120times D) 70times
CHEMISTRY

Anisotoneof ZGeis:

A) I'Ge B) ZAs C) Ise D) 2Kr
Rutherfordsa phascattering experiment eventudly lead to conclusonthat :

A) Massand energy arerelated

B) Electron occupy empty space around the nucleus

C) Neutronsare buried deep inthe nucleus

D) All of these

Inwhich of thefollowing thenumber of protonis greater than the number of neutrons, but the number of
protonislessthan the number of eectrons:

A) DO’ B) SO, C)H,0 D) OH-
Thetotal number of neutron presentin 2 Mg is:
A) 12 B) 13 C) 14 D) 10

Bohr orbitsare called stationary state because:

A) Electronsinthem are stationary

B) Ther orbitshavefixed radii

C) Thedectronsinthem havefixed energy

D) All arecorrect

Atomic number of anelementisequal to the number of :

A) electrons B) protons

C) neutrons D) either electronsor protons

Deflection back of o — particles on hitting thinfoil of gold showsthat :
A) Nucleusisheavy B) Nucleusissmal

C)BothA& B D) Electron create hinderanceinthemovement of a - particles

The atomic mass of an dement is19. Thesecond shdll of itsatom contain 7 e ectrons. Thenumber of
neutronsinitsnucleusis:

A) 10 B)9 C7 D) 12
The shape of ‘P’ orbital is :

A) Sphere B) Dump bell C) Ova D) None
Whichof thefollowingshowsradio activity :

A) Co B) Fe C)Cu D)Zn
Thevaency of Nais:

A0 B)1 C)2 D)3
The correct e ectronic configuration of H* is:

A) 19 B) 1¢ C 1¢ D) 1s

Maximum number of electron present in *“N’ shell is :
A) 18 B) 32 C)2 D)8
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Thevaency of anmoniumionis:

A)l B)3
Theincreasing order of massis:
A)p>e>n B)e>p>n

Sdect whichisnot related to health

A) Hygeine B) Colour
Thenon-infectionsdiseaseis

A)AIDS B) Arthritis

The congenitd diseaseis

A) Cancer B) Nephritis
Andlergicdiseaseis

A) Scurvey B) Rickets

The ‘mumps’ is caused by

A) Bacteria B) Fungi
Thefood poisoningiscaused by

A) Anabaena B) Filaria
Theringwormisa

A) Bacteria B) Fungi
Thefirstantibioticwas

A) Penicillin B) OPV

HIV isnot transfer through

A) Blood B) Sexua contact
Theworld hedthorganisationisin

A) England B) Irdland
Cancer can be caused by
A) Pressure B) U-V rays
Theautibody against virusformedinour body is
A) interferon B) Intrones
Thetestfor AIDSis
A)DTP B) PCR
Thelymphocytesareproducedin
A)liver B) brain

In man, leprosy iscaused by
A) mycoplasma B) mycobacterium

MATHEMATICS

When thediagonalsof apardlelogram are perpendicular to each other, thenitiscaled a:

A) Square B) Rectangle

Infigure, if ar(AABC) =28cm? then ar (AEDF) =

A) 21 cm? B) 18 cm?

C)4 D)5
C)n>p>e D) none

Y
C) Food D) Habit
C)TB D) Mumps
C) Haemophilia D) Mdaria
C) Hay fever D) Ringworm
C) Protozoa D) Virus
C) Clogtridium D)Ascaris
C) Virus D) Rickettsa
C)DTB D) Hepatitis- B
C) Water D) By birth
C) Switzerland D) Singapore
C) HIV D) Temperature
C) melatonin D) interleukin
C) ELISA D) BCG
C) bone marrow D) kidney
C) Nesseria D) Agrobacteria
C) Rhombus D) Pardldogram
C) 16 cm? D) 14 cnv?
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In AABC, if AD dividesBCintheratiom: n, thentheareaof (AABD):area of (AABC) :

A
B D c
A)m:n B)(m+1):n C)m:(n+m) D)n:m
In thefigureAD ||BC, BD isadiagonal. Then areaof quadrilateral ABCD is:

D C

Scm

A 3cm B
A) 12 cm? B) 24 cm? C)6cm? D) 30cm?
InthefigurePisapoint onsideBC of AoaBC suchthat BP: PC=1:2and Qisapoint onAPsuchthat

PQ: QA =2:3.Then ar(AAQC): ar(AABC) is:

A

B P C

A)2:5 B)3:5 C)2:6 D)1:2
ABCD isatrapeziumwithAB || DC.Alineparale toACintersectsAB at X andBCat Y. Then
ar(AADX) isequa to:

C) ar(AXCB) D) anABC
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area (ADFE)
InthegivenfigureDE ||BCandAD : DB =5:4.Then WCFB) :

B C

A)5:9 B)25:16 C)25:81 D) Noneof these

Giventwo triangles, which are similar, of which hastwicethe perimeter of the other. By what factor isthe
areaof thelarger trianglebigger thanthesmaller.

A)2 B) 4 C) V2 D) 2.2
D isthemid point of sdeBC of aoaBc and Eisthemidpoint of BD. If Oisthemidpoint of BD. If Ois
themidpoint of AE, then ar (ABOE) : ar (AABC) =

A
o

B E D C

A)1:4 B)2:4 C)1:8 D) None

Inaparalldogran ABCD, AB =8 cm. Thedtitudesto sidesAB and AD arerespectively 4cmand 5¢cm.
ThenAD =

A M 8cm B

A) 6.8cm B) 6.4cm C)4.6cm D) Noneof these
ThesidesBA and CD of acyclic quadrilateral ABCD are produced to meet at P. ThesidesDA and CB
areproducedtomeet at Q. If JADC =85 and OBPC =40° then JCOD equals:

A) 50° B) 45° C) 30° D) 75°
Inacircleof radius 10cm, thelength of chord whose distanceis6cm from thecentreis:
A)4cm B) 5cm C)8cm D) 16cm

Inthegivenfigure, if Cisthecentreof thecircleand OPQC = 25° and OPRC =15°, then OQCR isequa
to:

A) 40° B) 60° C) 80° D) 120°
Inacyclicquadrilatera, if A - c = 70° thenthegreater of theanglesA and Cisequal to:

A) 95° B) 105° C) 125° D) 115°



60. Oisthecentreof thecircleBCis achord of thecircleand point A liesonthecircle. If
OBAC=x, JOBC=y thenx +y=

A) > 90° B) =90° C) <90° D) >180°



SAMPLE QUESTION- KEY Class : IX

I PHYSICS + CHEMISTRY + MATHS + BIOLOGY

PHYSICS CHEMISTRY BIOLOGY MATHEMATICS
1 B 16. B 31. B 46. C
2. C 17. B 32. B 47. D
3. D 18. D 33. C 48. C
4. A 19. A 4. C 49. A
5. C 20. B 35. D 50. A
6. B 21. D 36. C 5. B
7. C 2. C 37. B 52. C
8. C 23. A 38. A 53. B
9. B 24, B 39. C 4. C
10. A 25. A 40. C 55. B
1. D 26. B 41. B 56. A
12. A 271. A 42. A 57. D
13. C 28. B 43. C 58. C
14. D 2. A 4. C 59. C
15. A 30. C 45. B 60. B



